What would the results be if you repeated this while on a 450 meter tower on the Mooon, wherea = 1.65meters/sec2 



given [D = (0.5)(1.65) t2 Distance Fallen (meters) 

( V= 1.65 t) Downward Velocity (meters/sec) and the elapsed time is 0,1,2,3,...7 sec 

t=1 s, v=1.65m/s, d=0.5*1.65*12 = 0.825 m.

So the first second falls 0.825m.

t=2, v=1.65*2 = 3.3 m/s, d=0.5*1.65*22 = 3.3 m.

Thus the second 1 second falls 3.3-0.825 = 2.475m.

t=3, v=1.65*3 = 4.95 m/s, d=0.5*1.65*32 = 7.425 m.

Thus the third 1 second falls 7.425 - 3.3 = 4.125m.
t=4, v=1.65*4 = 6.6 m/s, d=0.5*1.65*42 = 13.2 m.

Thus the 4th 1 second falls 13.2-7.425 = 5.775m.
t=5, v=1.65*5 = 8.25 m/s, d=0.5*1.65*52 = 20.625 m.

Thus the 5th 1 second falls 20.625-13.2 = 7.425m.
t=6, v=1.65*6 = 9.9 m/s, d=0.5*1.65*62 = 29.7 m.

Thus the 6th 1 second falls 29.7-20.625 = 9.075m.
t=7, v=1.65*7 = 11.55 m/s, d=0.5*1.65*72 = 40.425m.

Thus the 7th 1 second falls 40.425 – 29.7 = 10.725m.
